1) Solve the following by graphing

y:3x-23

y = -4x+5 -

B) Solve the following by graphing

X+y=4e

x-y=-20
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2) Solve each system of equations of the following using 'substitut{on.l 4)
A) , B)
y=3x+5 3x+y=-4,
y=—x-3 y=2x+6
2x S ="x-3 Y 3xAS SK'\’(&K%)? =
Uy = —% V= 3)ts 3 daxta=Y4 =6
o 9 1= (2+'S' Sx Lo =206
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: K=A V= oL
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3) Solve the system of equations by elimination

i | } |
a x+y=7 (/{ ¥ 3x+y=18 : /(‘; i
x—y=11 ©+2y =1l i '
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+ 4) A bank teller has a total of 124 bills in fives and tens. The total value of the money is $ 840,
The following equation represent this situation.

. . P
Total number of bills x+y =124 —> Y‘: =X\ ' =)

Total value Sx+10y =840

A) Solve the system of equations by substitution. AR
B) How many $5 bills and how many $10 bills does the teller have? A \\/\,\g,a'.g_ <.

Sy wol(-xtayj= 0 AN = 124 %0 MS bils +
S =lOX+13U0 = BYO 8O-}\(: Foy qy ﬁt@ 90:"{;5
“S% = "Hoo N = 1Yy Sty

X < 80

5) A teacher wants to buy books for each student in her class. She has 28 students. The books
cost $5 each for a workbook and $8 each for textbook.. The teacher has $173 to spend.

A) Write a system of equations to represent this relationship /
B) Solve the system to determine to determine how many of each type of book can she buy? <0
Wri=ag > w=-t+ad
S50 1< -\13 \A)-\t:- AE ' s\ ton b
‘ : w= add-ll 1l tedbosks <
5 (4 +a3)*BY = T3 e et T

-5t t)Ho +F3t = 1TD
By AR
<=

6) The Athletic Council wants to buy a total of 45 volleyballs and basketballs. The council has
$435 to spend. Each volleyball costs $8 and each basketball costs $11. How many of each type of /
ball can be purchased? (0
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